Section : Marathi Language
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Question Type : MCQ
Question ID : 630680296188
Option 1 ID : 6306801152421
Option 2 ID : 6306801152420
Option 31D : 6306801152422
Option 4 ID : 6306801152423
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680296172
Option 11D : 6306801152359
Option 21D : 6306801152356
Option 31D : 6306801152357
Option 41D : 6306801152358
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296181
Option 11D : 6306801152393
Option 2 ID : 6306801152394
Option 31D : 6306801152392
Option 4 ID : 6306801152395
Status : Answered
Chosen Option : 2
Marks : 0
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Question Type : MCQ
Question ID : 630680296186
Option 11D : 6306801152413
Option 2 ID : 6306801152415
Option 31D : 6306801152414
Option 4 ID : 6306801152412
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680296185
Option 11D : 6306801152410
Option 2 ID : 6306801152409
Option 31D : 6306801152411
Option 41D : 6306801152408
Status : Answered
Chosen Option : 1
Marks : 0
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Question Type : MCQ
Question ID : 630680296179
Option 11D : 6306801152384
Option 2 ID : 6306801152385
Option 31D : 6306801152386
Option 4 ID : 6306801152387
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296187
Option 11D : 6306801152419
Option 2 ID : 6306801152416
Option 31D : 6306801152418
Option 4 ID : 6306801152417
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680296175
Option 11D : 6306801152370
Option 2 ID : 6306801152368
Option 31D : 6306801152369
Option 4 1D : 6306801152371
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296171
Option 11D : 6306801152352
Option 2 ID : 6306801152354
Option 31D : 6306801152353
Option 4 ID : 6306801152355
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680296184
Option 11D : 6306801152404
Option 2 ID : 6306801152407
Option 31D : 6306801152406
Option 4 ID : 6306801152405
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296169
Option 1 ID : 6306801152345
Option 2 ID : 6306801152347
Option 31D : 6306801152344
Option 4 ID : 6306801152346
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680296183
Option 11D : 6306801152401
Option 2 ID : 6306801152400
Option 31D : 6306801152402
Option 4 ID : 6306801152403
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680296177
Option 11D : 6306801152379
Option 2 ID : 6306801152377
Option 31D : 6306801152378
Option 41D : 6306801152376
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296167
Option 11D : 6306801152336
Option 21D : 6306801152339
Option 31D : 6306801152338
Option 4 ID : 6306801152337
Status : Answered

Chosen Option :
Marks :

1
2
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Question Type : MCQ
Question ID : 630680296176
Option 11D : 6306801152375
Option 2 ID : 6306801152374
Option 31D : 6306801152373
Option 4 ID : 6306801152372
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296178
Option 11D : 6306801152381
Option 2 1D : 6306801152383
Option 31D : 6306801152380
Option 4 ID : 6306801152382
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296168
Option 11D : 6306801152343
Option 2 ID : 6306801152342
Option 31D : 6306801152341
Option 4 1D : 6306801152340
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296164
Option 11D : 6306801152325
Option 2 ID : 6306801152324
Option 3 1D : 6306801152326
Option 4 1D : 6306801152327
Status : Answered
Chosen Option : 1
Marks : 0
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Question Type : MCQ
Question ID : 630680296170
Option 11D : 6306801152348
Option 2 ID : 6306801152350
Option 31D : 6306801152349
Option 4 ID : 6306801152351
Status : Answered
Chosen Option : 4
Marks : 2
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Question Type : MCQ
Question ID : 630680296174
Option 11D : 6306801152364
Option 2 ID : 6306801152366
Option 31D : 6306801152367
Option 41D : 6306801152365
Status : Answered
Chosen Option: 3
Marks : 0
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Question Type : MCQ
Question ID : 630680296166
Option 11D : 6306801152334
Option 2 ID : 6306801152333
Option 31D : 6306801152332
Option 4 ID : 6306801152335
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type : MCQ
Question ID : 630680296173
Option 11D : 6306801152361
Option 2 1D : 6306801152362
Option 31D : 6306801152363
Option 4 ID : 6306801152360
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296165
Option 11D : 6306801152328
Option 21D : 6306801152330
Option 31D : 6306801152331
Option 4 ID : 6306801152329
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680296182
Option 11D : 6306801152397
Option 2 ID : 6306801152396
Option 31D : 6306801152399
Option 4 ID : 6306801152398
Status : Answered
Chosen Option : 1
Marks : 2
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Question Type : MCQ
Question ID : 630680296180
Option 11D : 6306801152391
Option 2 1D : 6306801152389
Option 31D : 6306801152390
Option 4 1D : 6306801152388
Status : Answered
Chosen Option : 3
Marks : 0

Section : English Language

Q.1 Select the most appropriate ANTONYM of the given word.
Divine
Ans X 1. Mediocre
a 2. Awful
/5 3. Average

/X 4. Substandard

Question Type : MCQ
Question ID : 630680280664
Option 11D : 6306801090892
Option 2 1D : 6306801090891
Option 31D : 6306801090894
Option 4 ID : 6306801090893
Status : Answered
Chosen Option: 3
Marks : 0




Q.2 Select the most appropriate articles to fill in the blanks

Someone stole all gold ornaments from

(¢ indicates no article needed).

Durga temple yesterday.

Ans X 1.the;o
X 2. a;the
...p\‘ 3. the; the
X 4. ¢, the
Question Type : MCQ
Question ID : 630680274410
Option 11D : 6306801066153
Option 2 1D : 6306801066152
Option 31D : 6306801066151
Option 4 1D : 6306801066154
Status : Answered
Chosen Option : 4
Marks : 0
Q.3 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
I cycle / around the Kankariya / lake for over / an hour yesterday.
Ans X 1.around the Kankariya
Z< 2. an hour yesterday
25 3. lake for over
¥ 4.1cycle
Question Type : MCQ
Question ID : 630680274682
Option 11D : 6306801067240
Option 2 ID : 6306801067242
Option 31D : 6306801067241
Option 4 1D : 6306801067239
Status : Answered
Chosen Option: 3
Marks : 0
Q.4 Select the most appropriate synonym of the given word.
Declare
Ans 1. Announce
/X 2. Conduce
#< 3.Bounce
/5 4. Denounce
Question Type : MCQ
Question ID : 630680252319
Option 11D : 630680979256
Option 2 ID : 630680979257
Option 31D : 630680979255
Option 4 1D : 630680979258
Status : Answered
Chosen Option : 1
Marks : 2




Q.5 Complete the sentence using the most suitable form of the verb ‘visit'.

A. "Hey, we are going to Paris in the summer of 2023. Have you ever been there?”

B. “Yes, | Paris way back in 2005."
Ans X 1.am visiting
25 2. visit
X 3. had visited
" 4. visited
Question Type : MCQ
Question ID : 630680274482
Option 11D : 6306801066442
Option 2 ID : 6306801066439
Option 31D : 6306801066440
Option 4 1D : 6306801066441
Status : Answered
Chosen Option: 3
Marks : 0
Q.6 The given sentence has an error. Select the option that rectifies the error.
Simran working for 10 years for that company, after which she got a promotion.
Ans X 1.Simran work
/< 2. she get a promotion
/X 3. she was getting a promotion
% 4. Simran had been working
Question Type : MCQ
Question ID : 630680278253
Option 11D : 6306801081369
Option 2 1D : 6306801081370
Option 31D : 6306801081372
Option 4 1D : 6306801081371
Status : Answered
Chosen Option : 4
Marks : 2
Q.7 Select the most appropriate preposition to fill in the blank.
Harish was not quite satisfied the way the interview went.
Ans X 1.about
" 2. with
X 3. for
X 4.on
Question Type : MCQ
Question ID : 630680280651
Option 11D : 6306801090839
Option 2 1D : 6306801090841
Option 31D : 6306801090840
Option 4 ID : 6306801090842
Status : Answered
Chosen Option : 2
Marks : 2




Q.8 Select the most appropriate meaning of the given idiom.

The ball is in your court

Ans " 1.To be responsible for making the next move
#< 2. To be careless about making the next move
#< 3. To be responsible for making the previous move

/X 4. To be unsure about making a move

Question Type : MCQ
Question ID : 630680274549
Option 11D : 6306801066708
Option 2 1D : 6306801066707
Option 31D : 6306801066709
Option 4 1D : 6306801066710
Status : Answered
Chosen Option : 1
Marks : 2
Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Many people acquire animals on impulse, / often based solely on looks, / without consider
for / what's best for the animals or their wants and needs.
Ans X 1. what's best for the animals or their wants and needs
o 2. without consider for
/< 3. often based solely on looks
< 4. Many people acquire animals on impulse
Question Type : MCQ
Question ID : 630680274449
Option 1 ID : 6306801066310
Option 2 ID : 6306801066309
Option 31D : 6306801066308
Option 4 1D : 6306801066307
Status : Answered
Chosen Option : 2
Marks : 2
Q.10 Select the most appropriate meaning of the given proverb.
A leopard doesn’t change its spots.
Ans " 1. Basic characteristics can never be altered
< 2. An honest person always keeps his promises
/< 3. Awild animal never leaves its habitation
/X 4. 0ne's thought process must not be modified
Question Type : MCQ
Question ID : 630680252532
Option 11D : 630680980110
Option 2 1D : 630680980109
Option 31D : 630680980107
Option 4 1D : 630680980108
Status : Answered
Chosen Option : 1
Marks : 2




Q.11 Select the INCORRECTLY spelt word in the given sentence.

The weather forcast said that there may be a thunderstorm and strong winds in the
afternoon.

Ans X 1. Afternoon

< 2. Thunderstorm

o 3. Forcast
X 4. Weather
Question Type : MCQ
Question ID : 630680274697
Option 11D : 6306801067302
Option 2 1D : 6306801067301
Option 31D : 6306801067300
Option 4 1D : 6306801067299
Status : Answered
Chosen Option: 3
Marks : 2
Q.12 Select the most appropriate adjective to fill in the blank.
| like both dark chocolate and milk chocolate, but I prefer the
Ans X 1.better
o 2. former
X 3. later
X 4. earlier
Question Type : MCQ
Question ID : 630680252924
Option 11D : 630680981678
Option 2 1D : 630680981676
Option 31D : 630680981675
Option 4 1D : 630680981677
Status : Answered
Chosen Option : 1
Marks : 0
Q.13 Select the most appropriate option to fill in the blank.
After the discharge, she will go to her mother’s place.
Ans X 1. distinctly
< 2. leisurely
X 3. fiercely
¥ 4. probably
Question Type : MCQ
Question ID : 630680252332
Option 11D : 630680979309
Option 2 1D : 630680979310
Option 31D : 630680979308
Option 4 1D : 630680979307
Status : Answered
Chosen Option : 4
Marks : 2




Q.14 Select the most appropriate question tag to fill in the blank.

Parul has not eaten the cookie, ________?
Ans  * 1. has she
/< 2. had she
/< 3.does she
X 4.did she
Question Type : MCQ
Question ID : 630680274678
Option 11D : 6306801067223
Option 2 ID : 6306801067224
Option 31D : 6306801067226
Option 4 ID : 6306801067225
Status : Answered
Chosen Option : 1
Marks : 2
Q.15 Select the most appropriate questlon tag to fill in the blank.
The team must be patient,
Ans X 1.cantit
o 2. mustn't it
25 3. mustit
X 4. couldn'tit
Question Type : MCQ
Question ID : 630680278249
Option 11D : 6306801081354
Option 2 1D : 6306801081356
Option 31D : 6306801081353
Option 4 1D : 6306801081355
Status : Answered
Chosen Option : 2
Marks : 2
Q.16 Select the most appropriate punctuation to fill in the blank.
What a huge house thisis ____
Ans X 1. (single quotation mark)
X 2. (period)
% 3.! (exclamation mark)
X 4.2 (question mark)
Question Type : MCQ
Question ID : 630680274673
Option 11D : 6306801067206
Option 2 1D : 6306801067203
Option 31D : 6306801067204
Option 4 1D : 6306801067205
Status : Answered
Chosen Option: 3
Marks : 2




Q.17 Select the most appropriate option to fill in the blank.

He gave us three

tea, coffee and lemonade.

Ans X 1.choices,
o 2. choices:
25 3. choices”
< 4. choices?
Question Type : MCQ
Question ID : 630680252293
Option 11D : 630680979151
Option 2 ID : 630680979154
Option 31D : 630680979153
Option 4 1D : 630680979152
Status : Answered
Chosen Option : 2
Marks : 2
Q.18 Select the option that expresses the given sentence in active voice.
The child was raised by the hyenas.
Ans X 1.The hyenas were raising the child.
% 2. The hyenas raised the child.
#X 3. The child raised the hyenas.
25 4. The child was raising the hyenas.
Question Type : MCQ
Question ID : 630680274440
Option 11D : 6306801066274
Option 2 ID : 6306801066273
Option 3 1D : 6306801066272
Option 4 ID : 6306801066271
Status : Answered
Chosen Option : 2
Marks : 2
Q.19 Select the most appropriate synonym of the underlined word.
The clandestine operation of the special forces was appreciated by all.
Ans X 1. powerful
< 2. valiant
" 3. covert
X 4. intrepid
Question Type : MCQ
Question ID : 630680252923
Option 11D : 630680981671
Option 2 ID : 630680981674
Option 3 ID : 630680981672
Option 4 1D : 630680981673
Status : Answered
Chosen Option : 1
Marks : 0




Q.20 The following sentence has been divided into three segments. One of them may contain an
error. Select the option that has the segment with the error. If you don't find any error, select

‘No error’ as your answer.

Beside 24th March, 1992, | met the person / who later turned out to be my / spiritual Guru in

the journey of life.
Ans X 1. spiritual Guru in the journey of life.

< 2. No error
/< 3. who later turned out to be my
## 4. Beside 24th March, 1992, | met the person

Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 4 1D :

: Answered

Chosen Option :

Marks :

Status

McQ

630680252517
630680980049
630680980050
630680980048
630680980047

4
2

Q.21 Select the most appropriate option to fill in the blanks.

man needs purpose in life.
Ans  #*1.Aa

X 2.A; the
X 3.The;a
X 4. An; the

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680274540
6306801066673
6306801066674
6306801066672
6306801066671
Answered

1

2




Q.22 Select the option that expresses the given sentence in passive voice.

Who is making this noise?
Ans " 1. By whom is this noise being made?
#< 2. By whom this noise is being made?
#5 3. Who has been made this noise?

/X 4. By whom has this noise been made?

Question Type : MCQ
Question ID : 630680274396
Option 11D : 6306801066098
Option 2 ID : 6306801066097
Option 31D : 6306801066095
Option 4 ID : 6306801066096
Status : Answered
Chosen Option : 2
Marks : 0

Q.23 Select the most appropriate meaning of the given idiom.
The devil is in the details.
Ans X 1. The details are important but can be ignored.
## 2. The details are important and can cause problems if not attended to.
/X 3. The details are unimportant and must be ignored.

25 4. The devil is literally in the details.

Question Type : MCQ
Question ID : 630680274545
Option 11D : 6306801066694
Option 2 ID : 6306801066693
Option 31D : 6306801066692
Option 4 ID : 6306801066691
Status : Answered
Chosen Option : 2
Marks : 2

Q.24 Select the most appropriate past tense form of the verb ‘rebut’ to fill in the blank.
The victim all the allegations levelled against him.

Ans X 1.is rebutting

#< 2. will be rebutting
%" 3. rebutted
X 4. have been rebutting

Question Type : MCQ
Question ID : 630680280639
Option 11D : 6306801090791
Option 2 ID : 6306801090792
Option 31D : 6306801090794
Option 4 1D : 6306801090793
Status : Answered
Chosen Option: 3
Marks : 2




Q.25 Select the INCORRECTLY spelt word in the following sentence.

The athlete was determined to win the gold medel in the competition.
Ans X 1.determined

X 2. athlete
o 3. medel
X 4. competition

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274542
6306801066680
6306801066679
6306801066681
6306801066682
Answered

3

2

Section : General Knowledge

Q.1 RGeS IgTest ATyt vargrHt fi< ardeht vt sma?
Ans X 1. STGREH AwARS

X 2. Eog AHADe

X 3. adegT sAuidhs

o 4. TRASBE SAIHS

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270547
6306801051374
6306801051375
6306801051377
6306801051376
Answered

2

0

Q.2 WETelieTdehl HIUTAT 2AE g Y5 Ie [AhAA Tegar?
Ans X 1.%gdar (Library)

< 2. gETSE (Socialist)
o 3. eTdl (Democratic)
X 4.1 (Justice)

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275841
6306801071875
6306801071877
6306801071878
6306801071876
Answered

2

0




Q.3
Ans
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XK 1dRgzarE
o 2. R R
X 3. T @rian
X 4 Tfde T

Option 1 1D

Question Type :
Question ID :

: 6306801049593
Option 21D :
Option 31D :
Option4 1D :
Status:

Chosen Option :
Marks :

McCQ
630680270085

6306801049591
6306801049592
6306801049594
Answered

3

0

Q4

Ans

WR AT 3T 19 sianfa w@rd=ar=n feRT=T @s (c) Hel Wiellerddh i 798
HUYTA 3T TR?

W 1. e fohar du sfavamn sfier

X 2. YRATEAT HIUTATE U g0} 3M1for wifdes giot
< 3. TR {MTT0T Yehst gt

X 4. aryor oy siffe=hia w@rd=a

Option 1 ID
Option 2 ID

Question Type :
Question ID :

: 6306801071865
: 6306801071866
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ
630680275838

6306801071864
6306801071863
Answered

2

0

Q.5 frer wturar adff go Fme ga?

Ans

% 1.2005
< 2.2004
% 3.2003
o 4.2006

Option 1 ID
Option 2 ID

Question Type :
Question ID :

: 6306801071452
: 6306801071451
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McCQ
630680275735

6306801071454
6306801071453
Answered

1

0
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Ans
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o 4. P

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680275590
6306801070872
6306801070874
6306801070873
6306801070871
Answered

3

0

Q.7 GErelieTdeht Hivrer Afe GeRepTe ufdr € ued! Aeref gidt snfor it ‘qeht e aremen

Ans
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< 1. arfar 23

X 2. FTETS A
W 3. TSR
X 4. =i mafam

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680275228
6306801069424
6306801069426
6306801069423
6306801069425
Answered

3

2

Q.8 T ugHuT AU HEeaTeaT Yah fAIsAWoNgaR, 2022 Fed v g PM2.5 UTacs! g
RIS gafdden gue g AT YRATH Jaifdes ugfde 2ER o gifta wrvara siet mg?

Ans

X 19w
o 2. foet
/X 3. ldAdEar
X 4.3

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680269916
6306801048917
6306801048918
6306801048915
6306801048916
Answered

2

2




Q.9 Which of the following types of plants do NOT have a naked embryo?

Ans

/< 1. Bryophyta
o 2. Angiosperm
/< 3. Pteridophyte
X 4. Thallophyte

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276565
6306801074756
6306801074758
6306801074757
6306801074755
Answered

2

2

Q.10 Wnﬁ;ﬁmaﬁm(ml)mﬁm(ﬁzoosmmmmm)m

=g Aifgdt Sgehia da, w= S1IfoY gav Jar et ar g fafga daear
31Ted.
Ans X 1.%fec afRa
W 2. T NS UL Sg<h
X 3. RAr a=manefiar
X 4. UPSC @ aree]
Question Type : MCQ
Question ID : 630680275889
Option 11D : 6306801072070
Option 2 ID : 6306801072068
Option 3 ID : 6306801072069
Option 4 ID : 6306801072067
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 Namaste is a Central Sector Scheme of the Ministry of Social Justice and Empowerment
(MoSJE) as a joint initiative of the MoSJE and the
Ans X 1. Ministry of Rural Development
25 2. Ministry of Agriculture & Farmers Welfare
25 3. Ministry of Labour and Employment
% 4. Ministry of Housing and Urban Affairs
Question Type : MCQ
Question ID : 630680276097
Option 11D : 6306801072900
Option 2 ID : 6306801072899
Option 3 ID : 6306801072902
Option 4 ID : 6306801072901
Status : Answered
Chosen Option : 2
Marks : 0




Q.12 AT TRISY TATU SHIUGTAT IT2A 1927 AT kT ISdcsia ATHIA STetel! AfgelT Widadi=e

Ans

@refierdehl ot giedt?
X 1. o R
X 2. ufofar it
o 3. ot mEfeey
X 4. ot &

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270081
6306801049578
6306801049577
6306801049575
6306801049576
Answered

2

0

Q.13 HERIETH Wi eTdehl U GHIST RGN Ufget MR Afge uRug &= cheft gidl Sfor

R Afgen uRw=n ufgean ST sreerus yues gia?

Ans X 1.91EH et AT
X 2. armETs i
o 3. ST TS
X A wrfom g
Question Type : MCQ
Question ID : 630680275233
Option 11D : 6306801069445
Option 2 ID : 6306801069443
Option 31D : 6306801069444
Option 4 ID : 6306801069446
Status : Answered
Chosen Option: 3
Marks : 2
Q.14 Tsa Aifgdt ogeh e shremmaefindt fhar aar=ht e guf giduda uerer
g
Ans X 1.3;60
< 2.3,62
g 3.5,65
X 4.6,62
Question Type : MCQ
Question ID : 630680275255
Option 11D : 6306801069534
Option 2 ID : 6306801069533
Option 31D : 6306801069532
Option 4 ID : 6306801069531
Status : Answered
Chosen Option: 3
Marks : 2




Q.15 WRATAT 2011 =0T FAMURGYR, Hafd et gd s sioran Jsard e Ah?

Ans X 1. 7gRTE
X 2. ofgm S
o 3. forrae mex
74 IWUS
Question Type : MCQ
Question ID : 630680270557
Option 11D : 6306801051417
Option 2 ID : 6306801051414
Option 3 ID : 6306801051416
Option 4 ID : 6306801051415
Status : Answered
Chosen Option: 3
Marks : 2
Q.16 Which enzyme serves as a reliable indicator for milk pasteurisation?
Ans X 1.Sucrase
< 2. Cellulase
w#" 3. Alkaline phosphatase
< 4. Trypsin
Question Type : MCQ
Question ID : 630680270143
Option 11D : 6306801049823
Option 2 ID : 6306801049825
Option 31D : 6306801049824
Option 4 ID : 6306801049826
Status : Answered
Chosen Option: 3
Marks : 2

Q.17 IS &, HETETE <Ard AT A uRfRA fAmfor sroarard) snfor uygeifaoas agramardt

Ans

REFRAT

75 1. geT¥yd 8k

T Qe U 3R,

& 2. Tt ART e a<d

25 3. udren
X 4 gad

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270091
6306801049616
6306801049617
6306801049615
6306801049618
Answered

1

0




Q.18 1919 =T AfIETAT 91T gTehisT=AT AhMNATS @relierdeh! it affht Anvara smet gidi?

Ans X 1.9ceR
W 2.8
X 3. her
X 4. gfemm

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680270063
6306801049505
6306801049504
6306801049503
6306801049506
Answered

2

2

Q.19 Fluhefta YsRT=AT a&@ UsR fAumTe sivrd fAu st a@n gd?
Ans o 1. T AT AT ST BT T 3MTe.

< 2. 3 gdr 39 3 Sfor uf YA IaRTER M.

X 3. AT TaIes SOy SqdT e argdrd.

X 4. 1d AesdT USRTET W HNT ST STl

\

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270177
6306801049962
6306801049961
6306801049960
6306801049959
Answered

1

2

Q.20 ©fre 2023 #7ed, R Afger Qratft Jafda iR Al oty |t het A, g ofg wioft

it dhet?
Ans X 1. 7gEA
o 2. TEah
X 3. IRam gr=manefiar

X 4. dagy=

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275657
6306801071141
6306801071142
6306801071140
6306801071139
Answered

2

2




Q.21 T 2022 FA, AR ‘WA A Fiorr G Feft g, € e urgea™ @reierdd) storer

TS MTR?
Ans o 1. wTE fqUTee
X 2. F9R
X 3. I g
< 4. anfearht
Question Type : MCQ
Question ID : 630680275651
Option 11D : 6306801071116
Option 2 ID : 6306801071115
Option 31D : 6306801071118
Option 4 1D : 6306801071117
Status : Answered
Chosen Option : 4
Marks : 0
Q.22 Identify the snake from the given options that does NOT possess any toxic properties.
Ans X 1.Russell's Viper
w# 2. Python
< 3. Black mamba
X 4.King cobra
Question Type : MCQ
Question ID : 630680270127
Option 11D : 6306801049759
Option 2 ID : 6306801049761
Option 3 ID : 6306801049762
Option 4 ID : 6306801049760
Status : Answered
Chosen Option : 1
Marks : 0




Q.23 Which of the following is/are the feature(s) of E-Waste (Management) Rules, 2022 as

notified in November 2022?

1)All the manufacturers, producers, refurbishers and recyclers are required to register on the
portal developed by CPCB.

Il)Provision for reduction of hazardous substances in manufacturing of Electrical and
Electronic Equipment (EEE).

lll)Authorisation has now been replaced by registration through online portal and only
manufacturers, producers, refurbishers and recyclers require registration.

Ans X 1.0nlylland Il
qf 2.1, land Il
Z< 3.0nlyland IlI
<5 4.0nlyland Il
Question Type : MCQ
Question ID : 630680278291
Option 11D : 6306801081522
Option 2 ID : 6306801081524
Option 3 ID : 6306801081523
Option 4 ID : 6306801081521
Status : Answered
Chosen Option : 4
Marks : 0
Q.24 TiUTE T A T 1905 AT Eiefierdch Fhiorear Tt RITa=T dhefl gidl?
Ans X 1. sa fofeer gfar aramadt
X 2. enfgen
W 3. WA Yach AT
X A IRUgY Heet
Question Type : MCQ
Question ID : 630680270073
Option 1 ID : 6306801049545
Option 2 ID : 6306801049543
Option 3 ID : 6306801049544
Option 4 ID : 6306801049546
Status : Answered
Chosen Option : 4
Marks : 0




Q.25 36 ot i shier wef-2022 Asfier alepe afgen @erg gfewr s @reiiedd storar

Boo1eft efda giedi?
Ans X 1. fazerst

X 2. ¥
X 3. g

#‘4.GIF'IFR'UT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270045
6306801049433
6306801049432
6306801049434
6306801049431
Answered

1

0

Section : General Intelligence

Q.1 3HERITE= Wi IR Sitsaidd i sitsar et fAfe a2+ == smad onfo =rgs &= ga&

e IR g4l. T T 9 THR S8R SiEl Rast.

Ans X 1.HD-KG
X 2. JF-MI
o 3.2D-GC
X 4.QM-TP

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277527
6306801078558
6306801078560
6306801078557
6306801078559
Answered

3

2

Q.2 Qe T guf duarardt P @1 Q Yai guie fahar R et fowre de amTat. s o e & 2

i @ T guf e rhdTd. Q 8T TehedT a shid fohel! fRawid guf e ereal?

Ans o1 6feag
X 2. 12Rag
X 3. 4fag
X 4.8fag

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287462
6306801117756
6306801117758
6306801117755
6306801117757
Answered

1

2




Q.3 gusht quiaTaTsRaTar SmeTRa gt aehiqaR ‘EPZK’ @ ‘'CNXI' 2ft Hsifda ong. <mawesR, ‘MYE!' §
‘KWCH’ 2ft Hsifdra o1mg. «ama aehi= SIgeRuT dheard, ‘UIWA' @ @refieraeht shemeft deifdra smg?

Ans

< 1.SUGY
X 2.SUYG
< 3.SYUG
W 4. SGUY

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680271602
6306801055483
6306801055482
6306801055480
6306801055481
Answered

4

2

Q.4 Rk arforenr adhgear guf ghvarand) usifegrean (?) swft @reliaddl wiorar vafa sme uifgst?

Ans

CE6, DG12, EI20, ?

X 1.GK30
" 2. FK30
X 3.FJ40
X 4.6M35

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680256899
630680997509
630680997507
630680997508
630680997510
Answered

2

2

Q.5 R arfoer adhgear gof grvarardt usifRgren (?) Srft @rsfierddr wiorar vafa smer aifgst?

Ans

10, 40, 90, 160, 2, 360

% 1.200
o 2. 250
% 3.220
X 4.270

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680256916
630680997575
630680997577
630680997576
630680997578
Answered

2

2




Q.6 ficiet faum sty et @ergdes aran. R faum & st 3 auwidaf 3 srawar
Sead, a3t ot T g o 7@ e, FAsepuiahl wivrar/a Rewa faremift adhera emg/

Ans

3Ted d 3.

faem : gl aR, 9z emad.

Rl Ug, TR Tad

ARt (1): Tt STeRTAI, AR Sig.
st (11): g <%, SITERIRAT 3.

X 1. Faes s (1) adhgTa ormg.

X 2. freenef (1) Smifor (1) 8 gt aeheTa smed

o 3. FAreepef (1) e fsemef (1) Sehl Tehgt deheiTel ATal.
X 4. %haes fshy (1) dEheTd SR,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272669
6306801059236
6306801059238
6306801059237
6306801059235
Answered

3

2

Q.7 Read the given statement(s) and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,

Ans

decide which of the given conclusions logically follow(s) from the statement(s).

Statements: All shoes are sandals.
All sandals are crocs.

Conclusion (I): Some crocs are shoes.
Conclusion (Il): All shoes are crocs.

#< 1. Neither conclusion (1) nor (1) follows.
/X 2. 0Only conclusion (1) follows.

#< 3. 0nly conclusion (I1) follows.

& 4. Both conclusions (1) and (1) follow.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680272655
6306801059181
6306801059179
6306801059180
6306801059182
Answered

4

2




Q.8 fReiwar siaR-uggi=aT WA ST Ao UToHTOE TA T EffAuTRT siaR-wg Retear

vafaigH et
PFV : UKA

LCS : QHX

Ans X 1.DYJ:JEP
7 2.KBR: QHX
7 3.QAJ: UEO

o 4. HTC : MYH

Question Type :

Question ID
Option 1 ID
Option 2 ID

Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ

: 630680272720
: 6306801059440
: 6306801059441
6306801059439
6306801059442
Answered

4

2

Q.9 Uant aa=hiA et A= fasht 4% ateam 2960 faaedien dheflt, @Y 20% Toam™ Ter Wex T840
fehueften faeral. a= caren fAeaes T fahar ater aiter.

< 1., 7123
X 2. 7w, 7123
2 3.4¥%T, 7100
o 4. 71,3100

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287148
6306801116501
6306801116499
6306801116500
6306801116502
Answered

3

0

Q.10 Higar:3-(5-6+3).
X 1.2
X 2.3
3.0
X 4.1

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277237
6306801077399
6306801077400
6306801077397
6306801077398
Answered

3

2




Q.11 <HIST=AT ek ST aoi- 1 kg 650 g 318, fheilimaed 1M 9 s=aid Ut g fahelt arder?

Ans X 1.15.65kg
X 2.15.85kg
& 3.14.85kg
X 4.14.65kg
Question Type : MCQ
Question ID : 630680277279
Option 11D : 6306801077567
Option 2 ID : 6306801077565
Option 31D : 6306801077566
Option 4 1D : 6306801077568
Status : Answered
Chosen Option: 3
Marks : 2
Q.12 EIHET 5% &R 3 FuETSt 31,280 e TSt fhet 3m@?
Ans X 1.3480
5 2.3180
o 3.3192
< 4.3195
Question Type : MCQ
Question ID : 630680287180
Option 11D : 6306801116630
Option 2 1D : 6306801116628
Option 31D : 6306801116629
Option 4 1D : 6306801116627
Status : Answered
Chosen Option: 3
Marks : 2

Q.13 A, B 3nfor C ar i< e 6 arid Qe ereh! ¥R= 2AehdTd. YTUHT0N YehidUol 2 919 hTH hed=a
C T s Shet STTa 30T ISR 2TehIT A T B @ 7 d1¥id W< QAehdTd. eh C A Tehl 3RUgrETdY

Ans

forelt arer mTelter?
X 112
o214

X 3.16

% 4.10

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287478
6306801117820
6306801117821
6306801117822
6306801117819
Answered

4

0




Q.14 fR<eh mifernt adhesn gof goaramd), nsifamgrean (?) snft Reear wafaidd sorar gafa smer
arfgst?

AZ2 YB6 CX12 WD20 ?

Ans X 1.FV32
X 2.EU32
7 3.UF30
W 4. EV30

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680277045
6306801076676
6306801076673
6306801076674
6306801076675
Answered

4

2

Q.15 Qe g 219.50 fhwefter fag, gort so=hier 30% T gidl. 40% -1 fAssfavararsdt =m fash

fohwra forelt araaeh aifgst?
Ans o 1.31.50

X 2.34.00
7 3.31.90
X 4.32.00

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287144
6306801116485
6306801116486
6306801116484
6306801116483
Answered

4

0

Q.16 Qe 1 fR&R grogTd 13 km/h 3R TR e Ahd. TaATET=T AT 4 km/h 3G, HaTgr=ar

f22R 68 km SITUATHTE} ATAAT ATTUNRT A QM.

Ans X 1.2d9
W2 479
X 3.5d9
X 4.3d9

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680287436
6306801117651
6306801117653
6306801117654
6306801117652
Answered

2

2




Q.17 A &1 Hah1est 9:00 aTSTAT X UTH WeTHTAT YReaTd sheel ATor crar Rash Y wefa gurt 1:00 arsrar

gk, @ fRasft B g1 3z Y urge |enredt 9:00 arsTdT WeTHTeT GEard sl SHTfor A

THTOTE §H AR STFERUT sheet X Tfd gurdl 3 arsten uigtal. & ate fnet arsmar dedier?

Ans X 1.10:00 arsiar
< 2. 11:30 arorar
W 3. 1124 AT
X 4.11:12

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680287725
6306801118807
6306801118809
6306801118810
6306801118808
Answered

2

0

Q.18 ¥% 5:30 p.m. ATSTAT AT T[GUTS hevdTH JoaTd hedt S1for 1 < 30 fAfAei= ygurs gof swat.

at freft arstar T guTs gof weat?

Ans X 1.7:00a.m.
X 2.7:30 p.m.
# 3.7.00 p.m.
X 4.7:30a.m.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680281236
6306801093179
6306801093182
6306801093181
6306801093180
Answered

3

2

Q.19 Rt mfcren adhgean ol glvaramd usiRegrean (?) Snft @fiedd siomar vafa simer ufgs?

1,5,11,19,29,?
Ans X 1.45

X 2.47

o 3. 41
X 4.39

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680256910
630680997553
630680997554
630680997552
630680997551
Answered

3

2




Q.20 SR'A =T 3 '+ g, ‘B’ =m 3 ‘x’ g, ‘C’ = 3ref ‘+ 3nfor ‘D’ = oref ‘-’ 3, AR Wrefieraehl

Ans

eparre gRumrt T 156 @«?

2 1.105D15A22B13C 11
X 2.105C15A22B 13D 11
w#3.105A15B22C13D 11
2% 4.105B15A22D13C 11

Question Type : MCQ
Question ID : 630680271651
Option 11D : 6306801055676
Option 2 1D : 6306801055679
Option 3 ID : 6306801055677
Option 4 ID : 6306801055678
Status : Answered
Chosen Option: 3
Marks : 2
Q.21 The following contain two pairs of words which are related to each other in a certain way.
Three of the following four word pairs are alike as these have the same relationship and
thus form a group. Which word pair is the one that does NOT belong to that group?
(The words must be considered as meaningful English words and must not be grouped
based on the number of letters/number of consonants/vowels in the word)
Ans X 1.Heater: Hot
X 2. Tiles : Slippery
a# 3. Wallet : Money
/5 4. Cement : Strong
Question Type : MCQ
Question ID : 630680271639
Option 11D : 6306801055631
Option 2 ID : 6306801055628
Option 3 ID : 6306801055629
Option 4 1D : 6306801055630
Status : Answered
Chosen Option: 3
Marks : 2




@2 et 10-AfE UM B, SIS 12% X 22 IR
IFHH 250,578 Tal BId. TR x o Hed fhdl 3Mig?

Ans " 1.38,000

75 2.36,000
< 3.40,000
< 4.42,000
Question Type : MCQ
Question ID : 630680287212
Option 11D : 6306801116756
Option 2 1D : 6306801116755
Option 31D : 6306801116757
Option 4 ID : 6306801116758
Status : Answered
Chosen Option : 4
Marks : 0
Q.23 Refer to the following series and answer the question (all numbers are single digit numbers
only).
(Left)289357631489351562147523829 (Right)
How many such odd digits are there each of which is immediately preceded by an odd digit
and also immediately followed by an even digit?
Ans X 1.Three
" 2. Four
< 3.Six
X 4. Five
Question Type : MCQ
Question ID : 630680272695
Option 11D : 6306801059340
Option 2 ID : 6306801059339
Option 3 ID : 6306801059342
Option 4 ID : 6306801059341
Status : Answered
Chosen Option : 4
Marks : 0




Q.24 Zusht quishaTer eneamRe Reear mferdha wsiR=gren (?) Snft @ araen ga?

Ans

JEU, OHS, TKQ, YNO, ?
2 1.DQN
< 2.DPM
» 3.DQM
7 4.DPN

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680272756
6306801059584
6306801059583
6306801059585
6306801059586
Answered

3

2

Q.25 Michel walks to her office 5 km away from home. In the morning she covers the distance in
1 hour, whereas while returning home in the evening, she takes 15 more minutes to cover

Ans

the same distance. Find her average speed (in km/h) during the two-way journey.

3
X1 3;

4
o2 4;

2
X 3. 45

X 4 3%
8

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277296
6306801077636
6306801077633
6306801077634
6306801077635
Answered

2

2




